Skanes BF
DM mixed 2007-2008 2007-10-07

Partavling, 24 bord, 48 par. Antal brickor: 54. Medel: 1242.0.

Plac Par Poang % Namn MID Klubb
1 3 1509 60.75 Ake Bergh - Barbro Enhérning Ahlstrém 19320 13568 BK Tre Sang, Helsingborg
2 45 1477 59.46 Bengt Ake Nilsson - Hélene Hommerberg Messing 10267 10233 BK Kvartetten
3 14 1468 59.10 Mats Pettersson - Christina Klemmessen 5587 +79 BK Lavec
4 11 1442 58.05 Eva Erlandsson - Gerhard Erlandsson 15778 10001 LUCK
5 41 1399 56.32 Johan Lundvall - Anna Lundvall 2903 83993 Filbyter Bridge
6 30 1395 56.16 Sten Ahlgren - Jacqueline Jansson 12399 4441 BK Kvartetten - Malmé Dam BK
7 26 1393 56.08 Goran Eklund - Birgitta Rosenlund 5652 11363 Ystads BS
8 2 1360 54.75 Lars Jeppsson - Pyttsi Flodgvist 449 9278 Ystads BS
9 35 1354 5451 Kerstin Sjostrand - Johnny Pettersson 4776 11666 Pri-Bri 1936 - Malmo BK
10 38 1318 53.06 Christina Gutenwik - Jan Gutenwik 6301 6302 Hastveda BK - LUCK
11 29 1310 52.74 Kjell Hikansson - Inger Larsson 3733 12459 Ystads BS - Tranes BK
12 6 1303 52.46 Nicolae Ostner - Inger Ekberg | 4465 5710 Malmo BK - BK S:t Gertrud
12 32 1303 52.46 Carina Torstensson - Kenneth Osterberg 465 4700 Bjarnums BK - Hassleholms BK
14 39 1296 52.17 Ebon Agvard - Uno Kjellkvist 4751 6358 Malmd BK - BK Kvartetten
15 33 1295 52.13 Cecilia Ehrstedt - Tommy Jeppsson 4073 6314 HOOrs BK
16 9 1293 52.05 Karin Brundell-Freij - Anders Freij 5547 5548 LUCK
17 8 1290 51.93 Torsten Eriksson - Elsie Rosenlund 493 6260 Ystads BS
18 44 1285 51.73 Anders Nilsson - Ann-Charlotte Nordbjork 13968 11212 Bjarnums BK
19 21 1280 51.53 Bodil Wikstrém - Gert Bengtsson 11758 30102 BK S:t Gertrud - LUCK
20 48 1272 51.21 Anita Gullberg - Bo Persson 13513 14015 Lunds BK - Bjarreds BK
21 24 1269 51.09 Thomas Persson - Barbro Svensson 7539 534  Ystads BS
22 25 1265 50.93 Kristina Johnson - Hans Mansson 26596 27156 Lunds BK
23 22 1262 50.81 Birgitta Edvardsson - Jan Edvardsson 33274 10991 BK Zonen
24 5 1259 50.68 Per-Erik Lundgren - Anna-Carin Persson 5790 17207 Videdals BK - BK S:t Gertrud
25 31 1248 50.24 Lars-Ake Larsson - Kerstin Strémholm 79712 93799 Lunds BK
26 42 1245 50.12 Wiola Rasmussen - Flemming Rasmussen 4565 10707 Videdals BK
27 17 1238 49.84 Eva-Lotta Reiner - Pierre Carbonnier 5707 5538 Kristianstads BK - LUCK
28 10 1235 49.72 Christel Eklund - Staffan Lindberg 21519 82137 BK Tre Sang, Helsingborg
29 47 1229 49.48 Rolf Andersson - Yvonne Jonsson 14731 10957 Simrishamns BK
30 20 1228 49.44 Mats Andersson - Berit Andersson 15243 5880 Klippans BK
31 23 1216 48.95 Klas Bellander - Gun Bellander 4541 3638 Videdals BK
32 27 1215 48.91 Boel Hall - Roger Olsson 3438 888 BK Zonen
33 36 1205 48.51 Richard Korse - Lena Jonsson 15157 17205 BK S:t Gertrud
34 43 1197 48.19 Iwe Persson - Gun Romée 92201 92260 Lunds BK
35 37 1191 47.95 Inger Ohman - Rolf Ohman 79565 4997 Svedala BK
36 7 1180 47.50 Viveka Engestrdm - Thomas Lundquist 84574 81255 Malmé Dam BK - Falsterbo GK Bridgesektion
37 18 1164 46.86 Paul Norlin - Karin Andrée 4753 84991 BK Lavec - Pri-Bri 1936
38 15 1162 46.78 Birgitta Kiotseridis - George Borgstrom 22803 8612 Malmo BK
39 1 1144 46.05 Maj-Britt Nordberg - Bengt Larsson 13234 5801 Skanebridgens Vanners BK
40 40 1128 45.41 Johnny Engstrom - Agneta Dunemark 94336 84993 BK Singelton - Pri-Bri 1936
41 19 1117 44.97 Jan Carlsson - Marianne Strandberg 508 91483 BK Fenix
42 13 1110 44.69 Peter Moricz - Pia Moricz 25801 25992 Bridgeklubben 2 Kléver
43 12 1096 44.12 Tor Anderson - Karin Anderson 417 3741 BK Sekvens, S-torp
44 4 1092 43.96 Bjorn Stalfors - Eva Andersson 31712 32226 BK Fenix
45 16 1025 41.26 Cecilia Rodenstam - Jan Rodenstam 79558 6490 Svedala BK
46 34 1020 41.06 Anita Larsson - Bertil Ahlander 79711 9538 Lunds BK
47 28 963 38.77 Anna-Maria Olsson - Leif Nilsson 86390 10842 Svedala BK -BS 69
48 46 871 35.06 Lars Hasselgren - Aase Christoffersen 31313 30451 Ystads BS - BK Fenix
1 4 Kn9 2 4 K108 3 442
Nord v K1098 Ost v5 Syd v K9852
Ingen ¢ K743 NS ¢ EK3 ov 4 8753
#ED7 #KKn10753 292
4 652 « D874 4 EDKn3 49765 4E3 4 Kn109875
vE753 v6 v42 v KDKn96 v D63 vKn1074
¢Knl0 #9652 498642 D ¢ EKDKN102 ¢ -
#10932 #KKn54 *42 *E96 +Kn4 #873
« EK103 442 « KD6
v DKn42 vE10873 vE
+ ED8 + Kn1075 ¢ 964
»386 D8 &#EKD1065
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
48 1 6v N= a4 980 46.0 00|45 4 3&N+2 vK 150 450 10|25 26 44DO-3 ¥vA 800 46.0 0.0
30 19 4v S+3 &T 510 440 20(48 1 4 N+1 49 150 450 10|15 36 44DO-2 #A 500 430 30
23 26 3NN +3 LY 490 410 50|14 35 44 N= +Q 130 410 5031 20 44DO-2 &K 500 430 30
40 9 3NS+3 v5 490 410 50(39 10 44 N= 130 410 50|17 34 5¢ V-3 9 300 39.0 7.0
21 28 4y N+2 &7 480 340 12.0(20 29 3& N= vK 110 38.0 80|41 10 3¢ V-3 v2 300 39.0 70
27 22 4v S+2 a2 480 340 12012 37 34 V-2 +K 100 310 150(43 8 34 0-2 vA 200 36.0 10.0
34 15 4v S+2 480 340 12.0(23 26 34 V-2 *] 100 310 150(45 6 34S= vA 110 33.0 13.0
41 8 4v S+2 a5 480 34.0 12.0|24 25 34 V-2 v5 100 31.0 15047 4 3#S= ¢ A 110 33.0 13.0
45 4 4v N+2 +9 480 340 12032 17 2vDO-1 100 310 150 7 44 34 0-1 vA 100 26.0 20.0
39 10 3NN +2 460 27.0 19.0|42 7 34 V-2 48 100 31.0 15012 39 3¢ V-1 9 100 26.0 20.0
44 5 3NN+2 &5 460 27.0 19.0|47 2 34 V-2 +K 100 31.0 15022 29 4¢ V-1 9 100 26.0 20.0
6 43 4v N+1 +9 450 16.0 30.0|30 19 34 V-1 ¢ A 50 20.0 26.0|42 9 3¢ V-1 9 100 26.0 20.0
11 38 4v N+1 450 16.0 30.0|31 18 34 V-1 +K 50 20.0 26.0|46 5 34 O-1 *A 100 26.0 20.0
14 35 4v S+1 +J 450 16.0 30.0|34 15 34 V-1 50 20.0 26.0|21 30 44 S-1 ¢ A -50 16.0 30.0
16 33 4v N+1 +J 450 16.0 30.0|40 9 34 V-1 ¢ A 50 20.0 26.0|24 27 44 S-1 ¢ A -50 16.0 30.0
20 29 4vy N+1 &4 450 16.0 30.0|41 8 34 V-1 ¢ A 50 20.0 26.0|32 19 44 S-1 ¢ A -50 16.0 30.0
24 25 4v S+1 +J 450 16.0 30.0|11 38 24 V= -110 11.0 35.0|33 18 44 S-1 4Q -50 16.0 30.0
31 18 4v N+1 %4 450 16.0 30.0|16 33 24 V= v5 -110 11.0 35048 2 3&#S-1 ¢ A -50 16.0 30.0
32 17 4v S+1 450 16.0 30.0|27 22 24 V= v5 -110 11.0 35.0|28 23 44 S-2 s A -100 9.0 37.0
47 2 4v N+1 &7 450 16.0 30.0|36 13 24 V= v5 -110 11.0 35.0|35 16 5& S-2 a2 -100 9.0 37.0
36 13 4v N= +9 420 5.0 41.0| 6 43 34 V= ¢ A -140 40 42.0|37 14 3¢ V= *9 -110 6.0 40.0
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46 3 4y N= a7 420 50 41.0|21 28 24 O+1 +¢A -140 40 42.0|13 38 5#S-3 ¢+ K -150 4.0 42.0
12 37 5v N-1 v6 -50 1.0 450(44 5 34V= ¢ A -140 40 42.0|40 11 4NS-4 ¢ A -200 2.0 440
42 7 6y N-1 a7 -50 1.0 450(46 3 2¢ S-2 v4 -200 0.0 46.0| 1 3 54DS-2 &A -300 0.0 46.0
4 «E7 « KD10 4764
Vast v EK853 v 752 v EKn3
Alla + E86 ¢ 762 ¢ 74
&D75 #E1053 #KD1053
« D6 4109532 4543 4 E972 « KD53 4 EKn1092
v D642 v 107 v EK9 v 10643 vD64 vK
410975432 ¢ Kn ¢+ K84 + Kn95 ¢D52 ¢ K109
»- #EKn864 #KKn97 %86 #Kn94 #E872
« KKn84  Kn86 48
vKn9 vDKn8 v 1098752
¢+ KD ¢ ED103 + EKn863
#K10932 &D42 &6
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
31 20 3NN +3 *6 690 43.0 3.0(29 24 INN+2 a2 150 46,0 00| 1 5 440-1 *2 100 40.0 6.0
32 19 3NN+3 »6 690 430 30| 2 4 INN+1 »8 120 430 30(22 31 44 0O-1 »6 100 40.0 6.0
45 6 3NN +3 3 690 43.0 3.0(38 15 INN+1 a2 120 43.0 3.0(25 28 44 O-1 *6 100 40.0 6.0
48 2 3NS+3 +Q 690 43.0 3.0(14 39 INDV-1 ¢2 100 370 9.0(29 24 44 O-1 vT 100 40.0 6.0
15 36 3NN+2 *6 660 320 140(22 31 2&V-2 &K 100 370 9.0(33 20 44 O-1 »6 100 40.0 6.0
24 27 3N N+2 3 660 32.0 140(26 27 INV-2 +6 100 370 9.0(41 12 44 O-1 *6 100 40.0 6.0
25 26 3N N+2 ¢J 660 32.0 14.0(34 19 24 V-2 ¢7 100 370 9.0(46 7 44 0-1 ¢ A 100 40.0 6.0
33 18 3NN+2 ) 660 32.0 140|16 37 INN= »8 90 31.0 150(38 15 5v N-1 4 A -50 32.0 14.0
35 16 3NN +2 a2 660 32.0 140|44 9 INN= a7 90 31.0 150(16 37 4y N-2 & A -100 28.0 18.0
37 14 3NN +2 *3 660 320 140| 8 45 2¢v0O-1 *2 50 22.0 24.0(32 21 5vDN-1 &A -100 28.0 18.0
47 4 3NN+2 »6 660 320 140(13 40 2vO-1 v8 50 220 24036 17 4v N-2 4 A -100 28.0 18.0
21 30 4v N+1 +J 650 23.0 23.0(18 35 INV-1 &K 50 22.0 24026 27 34 O= *6 -140 24.0 22.0
46 5 4v N+1 LY 650 23.0 23.0(23 30 24 O-1 vQ 50 22.0 24.0(43 10 5v N-3 s A -150 22.0 24.0
1 3 3NN+1 »6 630 140 32.0(25 28 INV-1 ¢7 50 220 240| 8 45 34 O+1 vT -170  20.0 26.0
7 44 3NN+1 +J 630 140 32.0(41 12 INV-1 2 50 220 240 2 4 5vDN-2 &A -300 15.0 31.0
17 34 3NN+1 aT 630 140 32.0(43 10 3v V-1 ¢7 50 220 24.0(14 39 6vDN-2 &A -300 15.0 31.0
28 23 3NN+1 a2 630 140 32.0(42 11 INV= 3 -90 140 32.0(42 11 5vDN-2 &A -300 15.0 31.0
40 11 3NN +1 3 630 14.0 32.0|32 21 INN-1 vT -100 11.0 35.0(|48 3 5vDS-2 &K -300 15.0 31.0
42 9 3NS+1 v6 630 140 32.0(36 17 INN-1 v3 -100 11.0 35.0(13 40 44 O= *6 -620 5.0 41.0
43 8 3NN+1 »6 630 140 320 1 5 2vV= ¢7 -110 7.0 39.0|18 35 44 O= »6 -620 5.0 41.0
13 38 3NS= 2 600 50 41.0|48 3 24 0= vQ -110 7.0 39.0|23 30 44 O= *6 -620 5.0 41.0
22 29 3NN= 43 600 5.0 41.0|33 20 3¢ S-2 vA -200 3.0 43.0|34 19 44 O= *6 -620 5.0 41.0
12 39 6y N-1 +J -100 20 440|146 7 2#S-2 vA -200 3.0 43.0|44 9 44 O= »6 -620 5.0 41.0
41 10 64 S-4 *T -400 0.0 46.0|47 6 INN-3 LY -300 0.0 46.0|47 6 44 O= *6 -620 5.0 41.0
7 # 987 8 « KD64 9 4843
Syd v K95 Vast v E863 Nord v 873
Alla ¢ Kn1097 Ingen *4 ov ¢ Kn842
#D96 #10983 #KKn2
« EK10 443 410875 492 4 E105 & Kn96
vDKn1l0 v8762 v K2 v 9754 vEKn106 vKD54
+D3 + E852 ¢E9853 ¢7 + D96 ¢ E1075
#EKKN74 #853 &E5 #KDKn762 +D96 #54
« DKn652 « EKn3 & KD72
v E43 v DKn10 v92
+ K64 + KDKn1062 + K3
#102 &4 #E10873
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
30 25 2N O -4 a2 400 46.0 0.0|42 13 44DO-3 +¢K 500 46.0 00|20 37 24 0-2 v9 200 450 1.0
9 46 3NV-3 +J 300 440 20(27 28 3NS+2 a5 460 440 20(28 29 4v O-2 *Q 200 450 1.0
2 6 3NV-2 ¢J 200 390 70| 9 46 3NN+1 &K 430 420 40| 4 6 3v0O-1 &A 100 420 4.0
3 5 3NV-2 ¢J 200 39.0 70|35 20 3NN= &K 400 400 60| 3 7 24S= +6 90 390 7.0
47 8 3NV-2 +J 200 390 70 1 7 2v0-4 ¢+ K 200 38.0 80(38 19 14S+1 vA 90 39.0 7.0
48 4 3NV-2 49 200 39.0 7.0[14 41 24 N+2 A 170 350 110 2 8 1¢ S-1 *6 -50 36.0 10.0
15 40 3v O-1 49 100 30.0 16.0(39 16 2v N +2 &K 170 35.0 11.0(10 47 INO= »3 -90 32.0 14.0
17 38 3NV-1 +J 100 30.0 16.0(15 40 2¢ S+3 A 150 29.0 17.0(31 26 2¢ O= v9 -90 320 14.0
19 36 2NV-1 ¢J 100 30.0 16.0(24 31 2NN +1 &K 150 29.0 17.0(45 12 INV= LN -90 32.0 14.0
37 18 2NV-1 ¢J 100 30.0 16.0(34 21 3¢ S+2 vK 150 29.0 17.0(18 39 34 S-2 *6 -100 27.0 19.0
39 16 3NV-1 9 100 30.0 16.0(44 11 2NN +1 &K 150 29.0 17.0(27 30 3# N-2 vK -100 27.0 19.0
1 7 3a&V= a9 -110 23.0 23.0( 2 6 2¢ S+2 A 130 190 270 1 9 2v0O+1 ¥9 -140 14.0 32.0
33 22 38 V= ¢J -110 23.0 23.0( 3 5 3¢ S+l A 130 19.0 27.0 (15 42 1v V+2 48 -140 14.0 32.0
14 41 INV+1 a7 -120 140 32.0(37 18 3¢ S+1 A 130 19.0 27.0|16 41 2v V+1 v3 -140 14.0 32.0
23 32 INV+1 ¢J -120  14.0 32.0(45 10 2¢ S+2 A 130 19.0 27.0(24 33 3v O= ¢+ K -140 14.0 32.0
26 29 2NV = *T -120 14.0 32.0|47 8 2¢ N+2 A 130 19.0 27.0(25 32 3v V= »2 -140 14.0 32.0
35 20 2NV = +J -120 140 32.0(48 4 2¢ S+2 A 130 19.0 27.0(34 23 2v O+1 &K -140 14.0 32.0
42 13 2NV = a7 -120 14.0 32.0|19 36 3¢ S= A 110 12.0 34.0(35 22 2v V+1 v3 -140 14.0 32.0
43 12 2NV = ¢J -120 14.0 32.0(23 32 44 0-2 ¢+ K 100 9.0 37.0|36 21 2v O+1 #A -140 14.0 32.0
44 11 2NV = 8 -120 140 32.0(30 25 3NV-2 &T 100 9.0 37.0|43 14 3v O = + K -140 14.0 32.0
27 28 24DS-2 &K -500 6.0 40.0|26 29 24 0O-1 +Q 50 6.0 40.0|44 13 2v V+1 v7 -140 14.0 32.0
24 31 3NV= 49 -600 2.0 440|17 38 INO= ¢+ K -90 3.0 43.0|48 5 2vV+1 &K -140 14.0 32.0
34 21 3NV= +J -600 20 440|333 22 INO= ¢+ K -90 3.0 43.0|40 17 2v V+2 &K -170 1.0 45.0
45 10 3NV = *T -600 20 44.0|43 12 2NV = v3 -120 0.0 46.0|46 11 1v V+3 +4 -170 1.0 45.0
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10 « D10984 11 « D874 12 « K84
Ost v E10852 Syd v63 Vast v EDKn
Alla +5 Ingen + KKn107 NS *74
&E6 #1085 #K10863
4 K52 s E7 & Kn6 495 49652 #E3
vKn vD74 v KD9 vKn7 v K96 v 1042
¢ DKn104 98763 *4 + ED9865 ¢ D1052 ¢ EKKn963
#KDKn105 #974 #EKD7642 #Kn93 #Kn5 +D9
4« Kn63 « EK1032 « DKn107
v K963 v E108542 v 8753
¢ EK2 ¢32 +8
#832 &- »E742
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
44 13 44 N+1 29 650 450 10| 5 7 54 S= A 450 450 10(37 22 3v S+1 ¢+5 170 46.0 0.0
45 12 44 S+1 &K 650 450 10|32 27 54 S= A 450 450 10(28 31 4¢ O-3 +Q 150 43.0 3.0
16 41 4v N= +3 620 36.0 10.0(45 14 44 N= &3 420 420 4.0|44 15 44 N+1 ¢ A 150 43.0 3.0
20 37 44 S= &K 620 36.0 10.0(25 34 64DV-2 v6 300 40.0 6.0(25 34 3v S= 2 140 40.0 6.0
24 33 4v S= &K 620 36.0 10.0 |41 18 34 S+2 &K 200 380 80| 5 7 3¢0-2 +Q 100 34.0 12.0
25 32 4v S= *0Q 620 36.0 10.0(26 33 34 S+1 *4 170 36.0 10.0(19 40 4¢ O-2 &A 100 34.0 120
27 30 4v N= +9 620 36.0 100 3 9 34 S= ¢+4 140 33.0 13.0(26 33 3¢ O-2 v7 100 34.0 12.0
35 22 44 N= ¢7 620 36.0 10.0|44 15 3v S= A 140 33.0 13.0(35 24 3¢ O-2 +Q 100 34.0 12.0
48 5 4v S= &K 620 36.0 100 4 8 3NV-2 46 100 29.0 17.0(36 23 4¢ O-2 A 100 34.0 12.0
18 39 24 N+3 &7 200 27.0 19.0(21 38 3NDV-1 +¢J 100 29.0 17.0(17 42 INN= ¢ A 90 28.0 18.0
36 21 24 N+3 *9 200 27.0 190| 2 10 5 V-1 v6 50 20.0 26.0| 2 10 3¢ O-1 +Q 50 15.0 31.0
1 9 3vS+1 &K 170 150 31.0(11 1 5#V-1 v6 50 200 260 3 9 3¢ O-1 A 50 15.0 31.0
2 8 3vN+1 +9 170 15.0 31.0(19 40 5# V-1 v6 50 200 260 4 8 3¢ O-1 A 50 15.0 31.0
3 7 24 N+2 &4 170 15.0 31.0(29 30 5# V-1 v6 50 200 26.0|11 1 3¢ O-1 +Q 50 15.0 31.0
4 6 3v N+1 aA 170 150 31.0(36 23 5# V-1 v6 50 20.0 26.0(16 43 3¢ O-1 «Q 50 15.0 31.0
10 47 24 N+2 29 170 15.0 31.0(39 20 5# V-1 a7 50 20.0 26.0(21 38 3¢ O-1 +Q 50 15.0 31.0
15 42 2v S+2 &K 170 15.0 31.0(46 13 5# V-1 v6 50 20.0 26.0|29 30 3¢ O-1 +Q 50 15.0 31.0
34 23 34 N+1 +6 170 15.0 31.0|17 42 54 S-1 *4 -50 10.0 36.0(32 27 3¢ O-1 &A 50 15.0 31.0
38 19 3v S+1 +Q 170 150 31.0(28 31 64 S-1 &K -50 10.0 36.0(39 20 3¢ O-1 +Q 50 15.0 31.0
40 17 3v N+1 *9 170 15.0 31.0(35 24 54 S-1 A -50 10.0 36.0(46 13 3¢ O-1 A 50 15.0 31.0
46 11 3v N+1 +9 170 15.0 31.0|16 43 54 S-2 ¢+4 -100 40 42047 12 3¢ O-1 «Q 50 15.0 31.0
31 26 34 N= +8 140 40 42.0|37 22 44 S-2 *4 -100 40 420(|48 6 3¢ O-1 A 50 15.0 31.0
28 29 44 N-1 &7 -100 1.0 450(48 6 54 S-2 +4 -100 40 42041 18 INN-1 ¢+ K -100 2.0 440
43 14 44 N-1 &K -100 1.0 45047 12 4a V= v6 -130 0.0 46.0|45 14 INDO+1 &2 -280 0.0 46.0
13 10863 14 # Kn65 15 + 864
Nord vD74 Ost v K43 Syd v ED108
Alla + K52 Ingen ¢ K932 NS ¢+ E76
#972 D84 D108
& KKn2 4 D7 4 ED972 #K843 103 4« KD975
vKKn93 v52 vKn52 v6 v K92 v Kn6
+ DKn109 ¢ E764 ¢- + 1087654 ¢ KD952 ¢ 104
*104 #KKn865 #E9753 &K2 #K73 #Kn654
« E954 410 « EKn2
vE1086 v ED10987 v 7543
+83 ¢ EDKn ¢ Kn83
&ED3 #Kn106 &E92
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 8 2NV-1 43 100 43.0 3.0(45 16 54 O-1 &T 50 46.0 0.0[27 36 INN+2 &K 150 450 1.0
26 35 INO-1 v6 100 43.0 3.0|27 34 5vS-1 aA -50 42.0 4.0|41 22 INV-3 vA 150 450 1.0
30 31 24 V-1 46 100 430 30|38 23 5vS-1 s A 50 420 4.0(34 29 2v S+1 oT 140 420 4.0
45 16 2NV -1 v7 100 43.0 3.0(42 19 4vN-1 s A -50 420 4.0(38 25 2v N= *T 110 38.0 8.0
36 25 2# V= vA 90 37.0 9.0| 1 13 5¢DS-1 &A -100 37.0 9.0(39 24 2v S= aT 110 38.0 8.0
37 24 24 0= +8 90 370 9.0(12 2 5vDS-1 &A -100 370 9.0|48 8 2v S= oT 110 38.0 8.0
3 11 INS-1 +Q -100 27.0 19.0| 4 10 4v S-3 A -150 34.0 12.0|23 40 24D O-1 #A 100 34.0 12.0
4 10 2vS-1 &T -100 27.0 19.0(33 28 34 V+2 v3 -200 320 140 1 15 INV-1 48 50 29.0 17.0
17 44 INS-1 ¢+ Q -100 27.0 19.0 (46 15 24 V+5 a] -260 30.0 16.0| 2 14 24 O-1 v4 50 29.0 17.0
18 43 24 N-1 v5 -100 27.0 19.0|22 39 5¢vDS-2 #A -300 28.0 180| 5 11 2¢ V-1 »8 50 29.0 17.0
27 34 1¢ S-1 &T -100 27.0 19.0(18 43 44 O= *A -420 22.0 24.0(19 44 2¢ V-1 48 50 29.0 17.0
42 19 24 N-1 v5 -100 27.0 19.0|20 41 44 V= v3 420 22.0 240| 4 12 3v N-1 *T -100 18.0 28.0
46 15 24 N-1 v5 -100 27.0 19.0|26 35 44 V= a5 -420 220 240| 7 9 3v N-1 &K -100 18.0 28.0
48 7 24 N-1 v5 -100 27.0 19.0(30 31 44 V= v3 -420 22.0 24.0(21 42 3v N-1 4K -100 18.0 28.0
5 9 3¢ V= v4 -110 17.0 29.0|48 7 44 V= vK 420 22.0 24.0|28 35 3v N-1 *T -100 18.0 28.0
22 39 24 0O +1 +8 -110  17.0 29.0| 3 11 44 V+1 v3 -450 14.0 32.0|30 33 2vS-1 aT -100 18.0 28.0
29 32 INO+1 v6 -120 13.0 33.0(29 32 44 O+1 ¢ A -450 14.0 32.0(31 32 3vS-1 ¢+ Q -100 18.0 28.0
47 14 2NV = v4 -120 13.0 33.0(37 24 44 V+1 vK -450 14.0 32.0|47 16 3v N-1 &K -100 18.0 28.0
1 13 INS-2 ¢+ Q -200 5.0 41.0|47 14 44 O+2 & -480 10.0 36.0|37 26 24 O= +3 -110 9.0 37.0
12 2 INS-2 +Q -200 50 41.0|36 25 44DV= 46 -590 8.0 38.0(46 17 24 O= v7 -110 9.0 37.0
20 41 2v S-2 ¢+ Q -200 50 41.0| 5 9 44DV+1 3 -690 50 41.0| 6 10 3v N-2 *T -200 3.0 43.0
33 28 1lv S-2 ¢+ Q -200 5.0 41.0|40 21 44DV +1 ¢K -690 50 41013 3 2vS-2 aT -200 3.0 43.0
38 23 1aS-2 +Q -200 50 41.0| 6 8 4aDV+2 3 -790 1.0 45.0|18 45 3v N-2 4K -200 3.0 43.0
40 21 INN-2 »8 -200 5.0 41.0|17 44 44D O+2 &J -790 1.0 450(43 20 3v N-2 *T -200 3.0 43.0
16 # E953 17 « Kn95 18 « E97
Vast v 105 Nord v EK953 Ost vE97
oV ¢ 9753 Ingen 7 NS + D107
#643 £#K852 #DKn32
a7 4 Kn10842 & K43 41086 4 K3 4 DKn102
v 9432 v EKKn v D87 v42 v10543  vKn2
+KKn82 +D4 ¢1084 ¢ EKD9 +52 ¢+ KKn984
#KKn108 &#E95 #Kn943 #ED107 #EK1064 #75
« KD6 4 ED72 #8654
v D876 vKn106 vKD86
+ E106 ¢ Kn6532 ¢+ E63
&D72 &6 98
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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13 3 2NV-1 vT 100 45.0 1.0 3y N+1  +A 170 45.0 1.0 34DV-3 ¢7 500 46.0 0.0
31 32 3¢ V-1 45 100 450 1.0 3y N+1  +K 170 450 1.0 3y V-4 *Q 200 440 20
21 42 2¢ N-1 vA -50 420 4.0 3¢ O0-3 vlJ 150 420 40 INN+2 4Q 150 420 40
27 36 2#0+1 v7 -110 40.0 6.0 29 N+1 o7 140 33.0 13.0 INN+1  2Q 120 40.0 6.0
2 14 2NO= v5 -120  34.0 12.0 29 N+1  #A 140 33.0 13.0 lv S+1  #A 110 37.0 9.0
19 44 INV+1 vT -120 34.0 12.0 v N+2  ¢A 140 33.0 13.0 24 S= *A 110 370 9.0
34 29 INV+1 vT -120 34.0 12.0 3v N= ¢A 140 33.0 13.0 2N O -2 a4 100 32.0 14.0
39 24 2NV= vT -120 34.0 12.0 29 N+1  #A 140 33.0 13.0 24DV-1 YA 100 32.0 14.0
48 8 INV+1 vT -120 34.0 12.0 2¢ N+1  +Q 140 33.0 13.0 3% 0 -2 *9 100 32.0 14.0
1 15 24 N-3 vA -150 20.0 26.0 29y N+1  +K 140 33.0 13.0 INN= +8 90 27.0 19.0
4 12 INV+2 ¢3 -150 20.0 26.0 3y N= ¢ A 140 33.0 13.0 INN= +Q 90 27.0 19.0
6 10 INV+2 +3 -150 20.0 26.0 2y N= ¢ A 110 24.0 22.0 2N V-1 s A 50 22.0 24.0
23 40 1INV +2 +3 -150 20.0 26.0 3v N-1 ¢+ K -50 120 34.0 INV-1 v7 50 22.0 24.0
30 33 2NO+1  v7 -150 20.0 26.0 3v N-1 ¢ A -50 120 34.0 24 V-1 vA 50 22.0 24.0
37 26 INO+2 v6 -150 20.0 26.0 3y N-1 ¢ A -50 12.0 34.0 Pass 18.0 28.0
41 22 INO+2 v7 -150 20.0 26.0 4v N-1 ¢+ K -50 120 34.0 2% V= vA -90 16.0 30.0
43 20 2¢ N-3 vA -150 20.0 26.0 3v N-1 ¢ Q -50 120 34.0 2NN -1 *7 -100 10.0 36.0
46 17 2NV +1 43 -150 20.0 26.0 3y N-1 ¢ A -50 12.0 34.0 2v S-1 *K -100 10.0 36.0
7 9 2NO+2 +6 -180 8.0 38.0 34 S-1 *4 -50 120 34.0 3v S-1 *A -100 10.0 36.0
18 45 INV+3 o7 -180 8.0 38.0 24 S-1 *4 -50 120 34.0 2y S-1 *K -100 10.0 36.0
28 35 2NO+2 +6 -180 8.0 38.0 3y N-1 +K -50 12.0 34.0 INN-1 «Q -100 10.0 36.0
511 3NV= vT -600 2.0 44.0 3v N-1 ¢A -50 120 34.0 2¢ O+1 &9 -110 4.0 420
38 25 3NO= v6 -600 2.0 44.0 3v N-1 ¢ A -50 120 34.0 2y S-2 ¢5 -200 2.0 44.0
47 16 3NV = *3 -600 2.0 44.0 4v N -3 ¢ A -150 0.0 46.0 3v S-3 ¢5 -300 0.0 46.0
19 4« Kn10974 «D76 & EKKn7
Syd v3 v D94 v 986
oV *7 ¢+ D2 +95
#KKn10872 #K10854 #9854
« EKD5 4832 49 & EK532 29853 «D4
v4 vD9876 v Kn53 v 106 v5432 vEKD10
¢ EKKn93 ¢ 1062 ¢ EKKn987643 ¢ 10 ¢D62 ¢ E87
#D65 *43 *- #EKn762 #E7  #KKnl06
46 « Kn1084 + 1062
v EKKn1052 v EK872 v Kn7
¢ D854 5 ¢ KKn1043
+E9 D93 D32
Par Kontr Ut Res Poang Kontr ut Res Poang Kontr ut Res Poang
9 11 44DO-4 #A 1100 46.0 0.0 6¢ V-1 v4 100 440 20 4v O -1 vJ 50 440 20
6 14 44DO-3 vA 800 440 20 6¢ V-1 v4 100 440 20 4v O -1 vJ 50 440 20
2 18 2¢vDS= &K 470 41.0 5.0 6¢ V-1 v4 100 440 20 4v O-1 vJ 50 440 20
21 46 2vDS= 4A 470 41.0 5.0 3v N-1 oT -100 40.0 6.0 lvO+2 vJ -140 38.0 8.0
4 16 3¢ V-3 v3 300 370 9.0 4¢ V= 46 -130 38.0 8.0 3v 0= 46 -140 38.0 8.0
8 12 44 V-3 v3 300 37.0 9.0 4¢ V+1 v4 -150 34.0 12.0 29 O+l vJ -140 38.0 8.0
39 28 1vDS+1 oK 260 34.0 12.0 3¢ V+2 v4 -150 34.0 12.0 INO+2 ¢4 -150 34.0 12.0
23 44 3¢ V-2 v3 200 30.0 16.0 4¢ V +1 v9 -150 34.0 12.0 29 O+2 42 -170  31.0 15.0
36 31 3¢ V-2 v3 200 30.0 16.0 3¢ V+3 &5 -170  26.0 20.0 3y O+1  v7 -170 31.0 15.0
48 10 3¢ V-2 v3 200 30.0 16.0 4o V42 24 -170  26.0 20.0 INO+3 3 -180 28.0 18.0
3 17 1vDS= 4A 160 26.0 20.0 3¢ V+3 46 -170  26.0 20.0 3NO = *3 -400 26.0 20.0
41 26 3¢ O-1 vK 100 24.0 22.0 4¢ V42 46 -170  26.0 20.0 4v O = 5 -420 13.0 33.0
119 3vS-1 & A -50 210 25.0 3¢ V43 &5 -170  26.0 20.0 4y O = 46 -420 13.0 33.0
33 34 3vS-1 *A -50 21.0 250 3¢ V+4 &4 -190 20.0 26.0 4v O = ¢3 -420 13.0 33.0
7 13 2vDS-1 4A -100 14.0 32.0 5¢ O= v9 -600 14.0 32.0 4v O = vJ -420 13.0 33.0
15 5 3vS-2 & A -100 14.0 32.0 5¢ V= v4 -600 14.0 32.0 4y O = a2 -420 13.0 33.0
25 42 3v S-2 *A -100 14.0 32.0 5¢ O= vA -600 14.0 32.0 4v O = v7 -420 13.0 33.0
40 27 2vDS-1 «A -100 14.0 32.0 5¢ V= v4 -600 14.0 32.0 4v O = 46 -420 13.0 33.0
43 24 44DN-1 +6 -100 14.0 32.0 5¢ V= v9 -600 14.0 32.0 4v V = &K -420 13.0 33.0
30 37 3v S-3 oA -150 8.0 38.0 5¢ V+1 *Q -620 8.0 38.0 4v V = & A -420 13.0 33.0
20 47 3vyDS-2 +¢K -300 6.0 40.0 S3NO+1 +¢K -630 6.0 40.0 4v O = a2 -420 13.0 33.0
29 38 4vDS-3 &K -500 3.0 43.0 5¢ V+2 &5 -640 4.0 420 4v O = ¢J -420 13.0 33.0
32 35 3yrDS-3 +A -500 3.0 43.0 3NV +2 &5 -660 2.0 44.0 4v V = &K -420 13.0 33.0
45 22 3NO= vK -600 0.0 46.0 6¢ V= 5 -1370 0.0 46.0 SNO+1 vJ -430 0.0 46.0
22 « KD10974 4 Kn72 »96
Ost vKn84 vED32 v72
ov ¢E7 +1086 *4
«K10 «D76 #KKn1098742
4 E32 # Kn65 4ED109 483 «E432 «KD1087
vEK105 vD93 vK976  vKn4 vE54 vD9
9 + K106 4943 ¢ EDKn7 ¢ Kn63 ¢ ED1085
#EKN842 #9653 84 #EKn1052 #E63 &5
8 & K654 & Kn5
v 762 v 1085 v KKn10863
¢ DKn85432 ¢ K52 ¢ K972
«D7 #K93 «D
Par Kontr Ut Res Poang Kontr ut Res Poang Kontr ut Res Poang
26 43 5¢DV-1 4Q 200 46.0 0.0 3NV -2 +6 200 46.0 0.0 54 V-3 *4 150 46.0 0.0
40 29 54 V-1 oK 100 440 20 lv V-1 *T 100 420 40 7a V-2 +4 100 440 20
10 12 3¢ S-1 +9 -50 420 4.0 3NO-1 a5 100 420 4.0 3¢ O+2 #Q -150 42.0 4.0
7 15 24 N-2 v3 -100 38.0 8.0 2¢ V-1 +6 100 420 4.0 4e V= *4 -420 40.0 6.0
24 45 24 N-2 3 -100 38.0 8.0 INO= a4 90 34.0 120 4e V +1 v7 -450 34.0 12.0
46 23 24 N-2 %3 -100 38.0 8.0 le V+1 a2 -90 340 12.0 44 O+1 £Q -450 34.0 12.0
319 3#V= ¢A -110 34.0 12.0 2% O = v5 -90 340 12.0 54 V= v7 -450 34.0 12.0
2 20 3#V+1l 4K -130 28.0 18.0 284 O = a4 90 34.0 120 44 O+1 #Q -450 34.0 12.0
21 1 4s V= ¢A -130 28.0 18.0 2¢ O= v8 -90 340 12.0 4e V +1 v7 -450 34.0 12.0
22 47 3V +1 4K -130 28.0 18.0 2y N-1 ¢A -100 28.0 18.0 4e V +2 *4 -480 16.0 30.0
33 36 3« V+l &K -130 28.0 18.0 2 O+1  #4 -110 24.0 22.0 54 V+1 +4 -480 16.0 30.0
41 28 44 V= oK -130 28.0 18.0 24 O+1 44 -110 24.0 22.0 44 O+2 £Q -480 16.0 30.0
8 14 24 N-3 &5 -150 18.0 28.0 24 O+1 44 -110 24.0 22.0 44 O+2 £Q -480 16.0 30.0
16 6 4¢ S-3 vA -150 18.0 28.0 INO+1 a5 -120 16.0 30.0 464 O+2  #0Q -480 16.0 30.0
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30 39 4¢ S-3 vA -150 18.0 28.0|11 13 INO+1 LY -120 16.0 30.0|17 7 54 O+1 &Q -480 16.0 30.0
31 38 3NN-3 v3 -150 18.0 28.0|31 40 2NO= a4 -120  16.0 30.0|22 2 44 O+2 &0Q -480 16.0 30.0
42 27 34 N-3 v3 -150 18.0 28.0|38 33 1INO+1 Y] -120  16.0 30.0|27 44 44 O +2 &Q -480 16.0 30.0
5 17 2N O +2 LY:] -180 12.0 34.0|42 29 2NV = a2 -120  16.0 30.0|32 39 44 O+2 &Q -480 16.0 30.0
4 18 34 N-4 &6 -200 9.0 37.0| 9 15 2NV +1 v3 -150 7.0 39.0|34 37 44 V+2 *4 -480 16.0 30.0
37 32 44 N-4 &6 -200 9.0 37.0|34 37 INO+2 vT -150 7.0 39.0|42 29 44 O+2 &Q -480 16.0 30.0
34 35 3¢DS-2 YA -300 6.0 40.0|35 36 INO+2 a5 -150 7.0 39.0|45 26 44 O +2 *2 -480 16.0 30.0
44 25 3N O + & K -630 4.0 42041 30 2NV +1 a2 -150 7.0 39.0|47 24 54 O+1 &0Q -480 16.0 30.0
9 13 34DN-4 &9 -800 1.0 450|123 1 3NV= a2 -600 1.0 450|23 1 54DN-3 K -500 2.0 44.0
48 11 34DN-4 #3 -800 1.0 45027 44 3NV= a2 -600 1.0 45041 30 5vDS-6 &A -1400 0.0 46.0
25 & Kn65 26 & K7642 27 « EKD3
Nord v D97 Ost v K9 Syd v K652
oV + EK64 Alla 2 Ingen +D
#1065 &#ED754 #Knl1074
4ED10873 492 4 E95 4 Kn8 «4Knl075 494
vKn v 108543 vDKn106 vE8743 v D94 v Kn1087
¢+ Knl10 + D95 ¢ Kn953 ¢ EKD 410873 ¢ EKn9
#Kn932 D84 »62 #Kn93 92 &E853
& K4 « D103 862
v EK62 v52 vE3
8732 + 108764 ¢ K6542
&EK7 K108 &KD6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
35 38 3NS+2 4 Q 460 46.0 00(23 3 44 N-= ¢+ K 620 46.0 0.0(43 32 3NN+2 vJ 460 46.0 0.0
6 20 NS +1 +*J 430 430 3.0(36 37 3¢ O-2 &3 200 440 20| 6 22 3NN+1 &5 430 390 7.0
44 29 3NS+1 vlJ 430 430 3.0(24 2 34 N= ¢A 140 420 4.0(10 18 3NS+1 +8 430 390 7.0
1 25 3NS= aA 400 320 140 9 17 44 N-1 ¢ A -100 40.0 6.0|29 46 3NS+1 a5 430 39.0 7.0
5 21 3NS= +J 400 32.0 14.0(48 13 3v O+1 a3 -170 380 8.0(37 38 3NS+1 a5 430 390 7.0
7 19 3NS= a3 400 32.0 140| 4 22 3v O+2 &K -200 28.0 18.0(40 35 3NN +1 49 430 390 7.0
9 17 3NS= 4 Q 400 320 140| 5 21 3v O+2 43 -200 28.0 18.0|47 28 3NS+1 a] 430 39.0 7.0
10 16 3NS= LY:] 400 320 140| 6 20 2v O+3 *T -200 28.0 18.0| 2 26 3NS= T 400 18.0 28.0
11 15 3NS= a7 400 32.0 14.0(26 47 3v O+2 a3 -200 28.0 18.0| 5 23 3NS= &) 400 18.0 28.0
24 2 3NS= &3 400 32.0 14.0(28 45 3v O +2 a3 -200 28.0 18.0| 7 21 3NS= a] 400 18.0 28.0
26 47 3NS= &2 400 320 14.0(33 40 2v O+3 a3 -200 28.0 18.0| 8 20 3NS= a5 400 18.0 28.0
43 30 3NS= a3 400 32.0 14.0|35 38 44DN-1 +¢K -200 28.0 18.0|11 17 3NS= &) 400 18.0 28.0
18 8 2NS= &2 120 220 24.0(43 30 3v O+2 4 Q -200 28.0 18.0|12 16 3NN= 49 400 18.0 28.0
12 14 3NN-1 49 -50 15.0 31.0(46 27 2v O+3 LX) -200 28.0 18.0|13 15 3NN= 49 400 18.0 28.0
32 41 3NS-1 a7 -50 15.0 31.0(12 14 4v O= &3 -620 17.0 29.0|19 9 3NS= &) 400 18.0 28.0
36 37 3NS-1 48 -50 150 31.0(42 31 4v O= &8 -620 17.0 29.0|24 4 3NS= a5 400 18.0 28.0
42 31 3NS-1 LY:] -50 15.0 31.0( 1 25 4v O+1 +6 -650 70 39.0(25 3 3NS= &9 400 18.0 28.0
46 27 3NN-1 LY:] -50 15.0 31.0( 7 19 4v O+1 v5 -650 7.0 39.0(27 1 3NS= &) 400 18.0 28.0
48 13 4v S-1 &3 -50 15.0 31.0(10 16 4v O+1 *T -650 7.0 39.0(33 42 3NS= a5 400 18.0 28.0
23 3 3NS-2 &2 -100 6.0 40.0|11 15 4v O +1 v2 -650 7.0 39.0|34 41 3NN= vlJ 400 18.0 28.0
28 45 4v S-2 *T -100 6.0 40.0|18 8 4v O+1 v5 -650 7.0 39.0(45 30 3NS= a7 400 18.0 28.0
39 34 3NS-2 48 -100 6.0 40.0|32 41 4v O+1 v2 -650 7.0 39.0(48 14 3NS= a7 400 18.0 28.0
4 22 4v S-3 &3 -150 2.0 44.0|39 34 4v O+1 a3 -650 7.0 39.0|136 39 3NN-1 vlJ -50 2.0 44.0
33 40 24DV = +K -670 0.0 46.0(44 29 4v O+1 +8 -650 7.0 39.0(44 31 3NS-2 a5 -100 0.0 46.0
28 & E72 29 4964 30 « KD1065
Vast v KDKn106 Nord vD Ost v KKn
NS ¢ E95 Alla + E10765 Ingen ¢ EKn63
&76 &K742 &42
46 & DKn10943 4 ED8532 4K & Kn83 a74
v 8543 v E92 v 1072 v EKn8543 v10842 vD53
¢ 763 + K4 +98 + KDKn4 +K +85
&#EKKn102 «D8 &ED &#Kn6 #EKD86 #Knl109753
& K85 & Kn107 & E92
v7 v K96 vE976
+ DKn1082 +32 + D109742
#9543 #109853 -
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
47 28 34 O-2 v7 100 46.0 00| 6 24 6y O-2 &T 200 46.0 0.0(11 19 6¢ S+1 &A 940 46.0 0.0
523 24 0-1 v7 50 370 9.0(20 10 5v O-1 &T 100 440 20| 1 29 44 N+3 &J 510 31.0 15.0
11 17 24 O-1 v7 50 370 90| 8 22 4vO= &T -620 39.0 7.0| 3 27 44 N+3 +8 510 31.0 15.0
19 9 24 0-1 v7 50 370 90(14 16 4v O= &T -620 39.0 7.0| 7 23 44 N+3 &J 510 31.0 15.0
33 42 24 O-1 v7 50 370 9.0(45 32 4vO= *2 -620 39.0 7.0 8 22 44 N+3 &5 510 31.0 15.0
37 38 24 O-1 v7 50 370 9.0(48 15 4v O= *2 -620 39.0 7.0|12 18 44 N+3 v3 510 31.0 15.0
44 31 24 O-1 v7 50 370 9.0[46 31 3NV +1 +6 -630 34.0 12.0|14 16 54 N+2 +8 510 31.0 15.0
45 30 24 O-1 v7 50 370 90| 3 27 4v O+1 &T -650 17.0 29.0|20 10 44 N +3 &J 510 31.0 15.0
48 14 24 O-1 v7 50 370 90| 7 23 4v O+1 &) -650 17.0 29.0(26 4 44 N+3 &J 510 31.0 15.0
7 21 14 O= v7 -80 27.0 190| 9 21 4v0O+1 +3 -650 17.0 29.0|34 43 44 N+3 &J 510 31.0 15.0
8 20 14 O= v7 -80 27.0 19.0(11 19 4v V+1 &T -650 17.0 29.0|35 42 44 N+3 +8 510 31.0 15.0
29 46 2NS-1 &A -100 24.0 22.0|12 18 4v O+1 &T -650 17.0 29.0 (37 40 44 N+3 &J 510 31.0 15.0
2 26 24 O= v6 -110 13.0 33.0|13 17 4v O+1 & -650 17.0 29.0|41 36 44 N+3 +8 510 31.0 15.0
10 18 24 O = v7 -110 13.0 33.0|25 5 4v O+l +3 -650 17.0 29.0 (45 32 44 N+3 +5 510 31.0 15.0
12 16 24 O= v7 -110 13.0 33.0|26 4 4v O+1 +3 -650 17.0 29.0 (48 15 44 N+3 &J 510 31.0 15.0
13 15 24 O= v7 -110 13.0 33.0(28 2 5v O= &T -650 17.0 29.0|25 5 54DV-3 +¢A 500 15.0 31.0
24 4 24 O= v7 -110 13.0 33.0|30 47 4v O+1 &T -650 17.0 29.0|44 33 54DV -3 &K 500 15.0 31.0
27 1 3eV= vK -110 13.0 33.0|34 43 4v O+1 &T -650 17.0 29.0( 6 24 5¢ S+2 &A 440 7.0 39.0
34 41 24 O= v7 -110 13.0 33.0|35 42 4v O+1 &T -650 17.0 29.0| 9 21 5¢ S+2 &K 440 7.0 39.0
36 39 24 O= v7 -110 13.0 33.0|37 40 4v O+1 &T -650 17.0 29.0|28 2 5¢ S+2 &A 440 7.0 39.0
40 35 24 O= v7 -110 13.0 33.0|38 39 4v O+1 +3 -650 17.0 29.0 (30 47 5¢ S+2 &K 440 7.0 39.0
43 32 24 O= v7 -110 13.0 33.0|41 36 4v O+1 aJ -650 17.0 29.0|38 39 5¢ S+2 &A 440 7.0 39.0
25 3 34 0= v7 -140 20 44.0(44 33 4v O+1 &T -650 17.0 29.0|46 31 5¢ S+2 &K 440 7.0 39.0
6 22 24 O+2 +Q -170 0.0 46.0| 1 29 3NV +3 &2 -690 0.0 46.0|13 17 34 N+4 v3 260 0.0 46.0
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31 « D108763 32 « KD 33  Kn105
Syd v E97 Vast v EKn9 Nord vE3
NS +8 oV + Kn986 Ingen ¢ K97432
#652 #K542 72
 KKn2 s E 4109873 & E52 442 « E98
v K103 vD2 vK7 v D8543 v 984 vKD1072
¢ Kn9763 ¢ 1054 ¢75432 +E + EKn8 4105
#KKn #ED109843 *6 #Kn1087 #Kn10986 #E53
4954 » Kn64 4 KD763
v Kn8654 v 1062 v Kn65
¢ EKD2 ¢+ KD10 + D6
&7 #ED93 &KD4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 18 34DS= &K 730 46.0 00|26 6 1laDV-2 &K 500 46.0 0.0(14 20 24 S+2 *J 170 46.0 0.0
36 43 5¢ V-4 vA 200 440 20| 4 28 3NN+1 v5 430 400 6.0 1 33 24 S+1 v4 140 35.0 11.0
8 24 64 0-2 ¢A 100 380 80| 8 24 3NN+1 &7 430 400 6.0 3 31 24 S+1 v9 140 35.0 11.0
29 3 540-2 ¢+ K 100 38.0 80(14 18 3NN +1 *J 430 40.0 6.0|11 23 34 S= v8 140 35.0 11.0
35 44 54D O-1 +A 100 380 80(29 3 3NN+1 &7 430 40.0 6.0(15 19 24 S+1 v9 140 35.0 11.0
47 32 5¢ V-2 *6 100 38.0 80|38 41 3NN+1 aA 430 400 6.0|22 12 24 S+1 v9 140 35.0 11.0
48 16 5# O -2 ¢ A 100 380 80| 9 23 3NN= a5 400 27.0 19.0(27 7 34 S= v4 140 35.0 11.0
7 25 5 0-1 ¢A 50 29.0 17.0(10 22 3NN= »8 400 27.0 19.0(32 2 34 S= *J 140 35.0 11.0
42 37 54 0-1 ¢ A 50 29.0 17.0(13 19 3NN= v4 400 27.0 19.0(43 38 34 S= v9 140 35.0 11.0
45 34 3NV-1 oT 50 29.0 17.0(21 11 3NN= v4 400 27.0 19.0 (47 34 24 S+1 v9 140 35.0 11.0
46 33 54 0-1 ¢ A 50 29.0 17031 1 3NN= v4 400 27.0 19.0 (48 17 34 S= v9 140 35.0 11.0
27 5 3vS-1 &K -100 24.0 22.0(35 44 3NN= v4 400 27.0 190 9 25 3¢ N+1 v2 130 24.0 220
13 19 3 O +2 ¢ A -150 22.0 24.0|36 43 3NN= v4 400 27.0 19.0(10 24 24 S= v9 110 21.0 25.0
15 17 3NV = a7 -400 19.0 27.0|42 37 3NN= v4 400 27.0 19.0|30 4 24 S= v4 110 21.0 25.0
39 40 54 0= ¢ A -400 19.0 27.0|12 20 2NN +3 &J 210 18.0 280| 5 29 3vO-1 +Q 50 15.0 31.0
2 30 3NV +1 46 -430 12.0 34.0|15 17 1v O-2 ¢+ K 200 16.0 30.0(28 6 3v O-1 &K 50 15.0 31.0
4 28 3NV +1 a7 -430 12.0 34.0|45 34 3&S-= vK 110 13.0 33.0|36 45 3v O-1 +Q 50 15.0 31.0
12 20 3NV +1 v7 -430 12.0 34.0(47 32 3&# N-= v4 110 13.0 33.0(46 35 3v O-1 +6 50 15.0 31.0
31 1 3NV+1 a7 -430 12.0 34.0| 2 30 3NN-1 v3 -50 50 41.0| 8 26 34 S-1 v8 -50 7.0 39.0
38 41 3NV +1 43 -430 12.0 34.0| 7 25 3NN-1 v3 -50 5.0 41.0|13 21 34 S-1 *J -50 7.0 39.0
9 23 3NO+2 ¢+ A -460 3.0 430127 5 3NN-1 v3 -50 50 41.0|16 18 34 S-1 v8 -50 7.0 39.0
10 22 3NV +2 v7 -460 3.0 43.0|39 40 3NN-1 v2 -50 5.0 41.0|39 42 34 S-1 *J -50 7.0 39.0
21 11 3NV +2 a7 -460 3.0 43.0|46 33 INN-1 LN -50 5.0 41.0|37 44 4¢ N-2 vK -100 1.0 45.0
26 6 3NV +2 a3 -460 3.0 43.0|48 16 3NN-1 v4 -50 50 41.0|40 41 34 S-2 v4 -100 1.0 450
34 943 35 48754 36 « EKD
Ost vE108 Syd vK Vast vD5
NS ¢+ ED2 ov ¢ 765432 Alla ¢ KKn54
#Kn543 #Kn9 K954
4 Kn862 & EKI105 a2 & DKn96 4963 & Kn7
v 963 vKn75 v98542 vED106 vEKn932 vK864
¢7 + K10986 +108 ¢ E 4109763 82
#EKD102 #7 #ED1085 #K743 »- #DKn1086
« D7 « EK103 # 108542
vKD42 vKn73 v 107
¢ Kn543 ¢ KDKn9 ¢ED
#986 *62 &E732
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 25 3NO-3 v3 150 46.0 00| 9 27 24 S-1 v9 -50 43.0 3.0( 9 27 3¢DV-3 &A 800 46.0 0.0
11 23 44 V-2 43 100 430 30(14 22 24 N-1 *A -50 43.0 3.0(11 25 3NN+2 *Q 660 410 5.0
46 35 4e V-2 ¢ A 100 430 3.0(17 19 24 S-1 v8 -50 43.0 3.0(14 22 3NN+2 *0Q 660 410 5.0
3 31 4e V-1 43 50 34.0 12.0(40 43 4¢ N-1 +Q -50 430 3.0(33 3 3NN+2 *Q 660 410 5.0
8 26 2¢ O-1 vK 50 340 12031 5 34 S-2 v2 -100 38.0 8.0(47 36 3NN +2 *Q 660 410 5.0
16 18 34 V-1 3 50 340 12.0(11 25 2#V+3 a5 -150 35.0 11.0| 1 35 44 S+1 3 650 26.0 20.0
22 12 44 V-1 43 50 34.0 12.0|48 18 44 S-3 a2 -150 35.0 11.0| 2 34 44 S+1 *T 650 26.0 20.0
32 2 44 V-1 a4 50 340 120( 1 35 2v O+3 ¢+ K -200 28.0 18.0(12 24 44 S+1 *T 650 26.0 20.0
47 34 34 V-1 vA 50 34.0 12.0(10 26 2v O+3 ¢+ K -200 28.0 18.0|15 21 44 N+1 3 650 26.0 20.0
48 17 34 V-1 vA 50 34.0 12.0(15 21 3v V+2 +4 -200 28.0 18.0(16 20 44 S+1 *T 650 26.0 20.0
10 24 Pass 240 22.0(37 46 3v O+2 &A -200 28.0 18.0(29 7 44 S+1 +3 650 26.0 20.0
15 19 Pass 240 22.0(44 39 3v V+2 8 -200 28.0 18.0(31 5 44 S+1 +3 650 26.0 20.0
40 41 Pass 240 220| 4 32 44DS-3 8 -500 18.0 28.0 (37 46 44 S+1 vA 650 26.0 20.0
13 21 2¢ O= +3 -90 200 26.0(16 20 5¢DS-3 42 -500 18.0 28.0 (40 43 44 N+1 aJ 650 26.0 20.0
14 20 24 V= 3 -110 18.0 28.0(23 13 5¢DS-3 a2 -500 18.0 28.0 (41 42 44 S+1 *T 650 26.0 20.0
28 6 24 O+1 vA -140 15.0 31.0|29 7 54DN-3 +¢A -500 18.0 28.0 (48 18 44 S+1 +9 650 26.0 20.0
39 42 24 O+1 vK -140 15.0 31.0(38 45 5¢DS-3 a2 -500 18.0 28.0 (10 26 3NN+1 *J 630 14.0 32.0
30 4 INO+2 vK -150 12.0 34.0( 2 34 4v V+l +3 -650 9.0 37.0|17 19 44 S= vA 620 11.0 35.0
5 29 24 V+2 &4 -170 9.0 37.0|28 8 4v V+1 48 -650 9.0 37.0|44 39 44 S= vA 620 11.0 35.0
43 38 24 V +2 &3 -170 9.0 37.0|41 42 4v O+1 &A -650 9.0 37.0| 6 30 3NN= L JO) 600 8.0 38.0
1 33 2¢S-3 ¢7 -300 6.0 40.0|47 36 5v O= &K -650 9.0 37.0| 4 32 3v0O-2 oT 200 6.0 40.0
27 7 44 V= &4 -420 40 420| 6 30 34DS-4 9 -800 2.0 44.0|23 13 44 N-1 *Q -100 3.0 43.0
36 45 44 V+1 a4 -450 1.0 450(12 24 5¢DN-4 ©vA -800 20 440|138 45 44 N-1 &J -100 3.0 43.0
37 44 4e V +1 3 -450 1.0 450(33 3 44DS-4 ¥5 -800 20 440|128 8 6% N-6 aJ -600 0.0 46.0
37 «E73 38 & Kn2 39 # K105
Nord vED2 Ost v EKDKn954 Syd v 103
NS *7 ov + K9 Alla ¢ E932
#D107632 £92 K632
« D102 & KKn9 487653 #E104 4 E63 4 Kn84
v Kn86 v K1043 v72 v- v 942 v E865
¢+ K96532 ¢ E104 ¢E72 + 10854 ¢+ KDKn ¢65
LY #KKn9 #KKn6 #D108543 #EDKn8 #10754
#8654 « KD9 « D972
v 975 v 10863 v KDKn7
¢ DKn8 ¢ DKn63 + 10874
&E85 &E7 &9
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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1 37 3NO -4 8 200 46.0 00| 1 37 4v S+1  «8 450 36.0 100|135 5 INV-1 ¢3 100 46.0 0.0
2 36 3NO-3 &5 150 43.0 3.0| 5 33 4vS+1 v7 450 36.0 100| 2 38 INV= ¢3 -90 250 21.0
41 44 3NO-3 *A 150 43.0 3.0|10 28 4v N+1  &A 450 36.0 10.0( 3 37 INV= 2 90 25.0 210
24 14 INO-2 &5 100 39.0 7.0(18 20 4y N+1 &7 450 36.0 100| 4 36 INV= *2 -90 250 21.0
39 46 2NO-2 45 100 39.0 70|29 9 5v N= & A 450 36.0 10.0| 6 34 INV= ¢2 -90 250 21.0
7 31 3NO-1 46 50 310 15032 6 4vy N+1 ¢4 450 36.0 100 8 32 INV= *2 90 25.0 210
10 28 3¢ V-1 3 50 31.0 150(34 4 4vy N+1 +8 450 36.0 10.0|11 29 INV= ¢2 -90 250 21.0
12 26 2NO-1 8 50 31.0 15.0(38 47 4y N+1 &5 450 36.0 10.0|12 28 INV= *2 -90 250 21.0
13 25 3¢ V-1 3 50 31.0 15039 46 4v N+1  &A 450 36.0 10.0(14 26 INV= 3 90 25.0 210
15 23 3NO-1 a5 50 31.0 15.0(42 43 4vy N+1 &A 450 36.0 10.0|16 24 INV= vT -90 250 21.0
18 20 3¢ V-1 *6 50 31.0 15.0|45 40 5v S= *A 450 36.0 10.0|18 22 INV= ¢2 -90 250 21.0
16 22 2¢ V= 3 90 230 23.0| 3 35 4v N= *4 420 17.0 29.0|19 21 INV= vT 90 25.0 210
45 40 INO= 8 -90 230 23.0|11 27 4v N= *8 420 17.0 29.0|30 10 INV= ¢3 -90 250 21.0
3 35 2&#N-1 v4 -100 20.0 26.0|12 26 4v N= 3 420 17.0 29.0|31 9 INV= ¢2 -90 250 21.0
11 27 3¢ V= *7 -110 14.0 32.0|15 23 4y N= &5 420 17.0 29.0|133 7 INV= +3 90 25.0 210
17 21 3¢ V= *6 -110 14.0 32.0|16 22 4y N= *4 420 17.0 29.0|39 1 INV= 3 -90 250 21.0
29 9 2¢ V41  #6 -110 14.0 32.0|30 8 4v N= &5 420 17.0 29.0|40 47 INV= ¢2 -90 250 21.0
30 8 2¢ V+1 &7 -110 14.0 32.0|41 44 4y N= *T 420 17.0 29.0|42 45 INV= 2 90 25.0 210
42 43 3¢ V= &7 -110 14.0 32.0|48 19 4v N= &5 420 17.0 29.0|43 44 INV= *2 -90 250 21.0
34 4 3¢ O+1 &5 -130 7.0 39.0| 2 36 5v N-1 8 -50 40 42.0(46 41 INV= ¢2 -90 250 21.0
38 47 3¢ V+1 o7 -130 7.0 39.0| 7 31 5¢N-1 *4 50 4.0 420(48 20 INV= vT 90 250 210
533 INO+2 45 -150 4.0 42013 25 5¢v N-1 *4 50 40 42.0(17 23 24 N-1 *4 -100 4.0 420
32 6 3#N-2 v4 200 2.0 44017 21 5¢v N-1 *7 -50 40 42.0|13 27 INV+1 a5 -120 2.0 44.0
48 19 44DN-3 <A -800 0.0 46.0|24 14 5¢v N-1 *4 50 4.0 42025 15 2vS-2 ¢+ K -200 0.0 46.0
40 4 Kn1032 41 « E97 42 « EK106
Vast v 64 Nord vE1052 Ost v63
Ingen ¢ EK2 ov + 103 Alla + E1086
«E1084 #K942 #ED7
4D97654 «E 43 4 K10652 4Kn9753 &D
v5 v EK109832 v KDKn v 9873 vD7 vEK
¢ 654 ¢ Kn10873 + EK98 +64 ¢+ K ¢ DKn9742
«D97 *- #EDKNn108 73 #K10864 #Kn932
4 K8 « DKn84 & 842
v DKn7 v 64 v Kn1098542
+ D9 ¢ DKn752 +53
#KKn6532 #65 &5
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 27 44DV-4 +A 800 46.0 0.0]17 25 5v O-3 *Q 300 440 20|43 46 4y N= ¢+ K 620 46.0 0.0
3 37 3NS+2 46 460 440 20|19 23 44 O-3 v6 300 440 20|18 24 54DO-2 vJ 500 420 40
30 10 3NS+1 v5 430 410 50|41 1 3¢V-3 s A 300 440 20|36 6 3¢DO-2 &5 500 42.0 4.0
39 1 3NN+1 &A 430 410 50| 3 39 3NV-1 oT 100 34.0 12.0|47 42 44DV-2 v6 500 42.0 4.0
6 34 3NS= 46 400 370 90| 4 38 3NV-1 *2 100 340 120 3 39 44DV-1 v6 200 36.0 10.0
18 22 3NN= vA 400 370 90|18 24 3NV-1 a5 100 340 120|115 27 44 0-2 vJ 200 36.0 10.0
40 47 5vDV-2 «K 300 340 120|126 16 3NV-1 oT 100 340 12041 1 340-2 vJ 200 36.0 10.0
2 38 4vyDO-1 &5 100 27.0 19.0|32 10 3NV-1 v5 100 340 12017 25 3v S+1 ¢+ K 170 32.0 14.0
11 29 4¢vDO-1 &K 100 27.0 19.0|36 6 3NV-1 v2 100 340 120| 7 35 3vS= ¢+ K 140 27.0 19.0
31 9 4vDO-1 &K 100 27.0 19.0|48 21 3NV-1 v2 100 340 12.0(14 28 2v S+1 +K 140 27.0 19.0
33 7 4vDO-1 &K 100 27.0 19.0|44 45 1laV+1 oT 90 26.0 20.0(20 22 2v S+1 ¢+ K 140 27.0 19.0
35 5 4vDO-1 £6 100 27.0 19.0| 5 37 laV+2 *T -110 22.0 24.0|32 10 3v S= *K 140 27.0 19.0
42 45 4vDO-1 43 100 27.0 19.0|12 30 3+ V= *T -110 22.0 240| 4 38 2¢ O-1 &5 100 19.0 27.0
8 32 4v O-1 &5 50 15.0 31.0|31 11 24 V+1 &A -110 22.0 240| 5 37 2¢ O-1 5 100 19.0 27.0
17 23 4v O-1 &5 50 15.0 31.0|15 27 2NV = v2 -120 17.0 29.0| 9 33 2¢ O-1 5 100 19.0 27.0
19 21 4v0O-1 a2 50 15.0 31.0{40 2 INV+1 v2 -120 17.0 29.0|12 30 3¢ O-1 &5 100 19.0 27.0
25 15 4v O-1 &3 50 150 31.0| 9 33 1&V+3 T -130 13.0 33.0|19 23 4v S-1 ¢+ K -100 10.0 36.0
43 44 49 O-1 oK 50 15.0 31.0|13 29 34V +1 *T -130 13.0 33.0|26 16 3v S-1 ¢+ K -100 10.0 36.0
46 41 5¢ O-1 &K 50 15.0 31.0|43 46 3NN-3 &7 -150 9.0 37.0|34 8 4vS-1 ¢+ K -100 10.0 36.0
4 36 5& N-1 oA 50 7.0 39.0|47 42 2NV +1 v4 -150 9.0 37.0|44 45 4v S-1 ¢+ K -100 10.0 36.0
14 26 5# N-1 vK 50 7.0 39.0(34 8 24DS-2 vK -300 6.0 40.0|48 21 4v S-1 +K -100 10.0 36.0
48 20 5% S-2 v5 -100 4.0 420| 7 35 3NV= v5 -600 2.0 440|40 2 3+0-= vJ -110 4.0 420
12 28 3v O= *6 -140 2.0 44.0|14 28 3NV= v5 -600 2.0 44.0|13 29 3NN-3 3 -300 1.0 450
16 24 5& N-3 vA -150 0.0 46.0|20 22 3NV= v2 -600 2.0 44.0|31 11 3NN-3 *Q -300 1.0 450
43 « D10 44 «EL107 45 # 85432
Syd vKn Vast vE8 Nord vK
Ingen ¢ DKn54 NS + EDKN1085 Alla + DKn9854
#KKn10742 #Kn9 &7
# 965 4 EKn7 4 Kn52 493 +96 4 EK107
vEK93  vD10642 v K62 v DKn1097 vEKn43 vD9872
¢E10876 +¢2 73 ¢+ K2 ¢ 732 ¢ EK
*9 #E865 #E10763 #K852 #E654  #Kn8
& K8432 « KD864 & DKn
v 875 v 543 v 1065
¢ K93 ¢ 964 ¢ 106
«D3 «D4 #KD10932
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
45 46 3v O = 43 -140 46.0 00|35 9 44 N+1 vQ 650 46.0 0.0]17 29 4v V= ¢ Q -620 42.0 4.0
48 22 3v O+1 #Q -170 440 20|13 31 3NN+1 vQ 630 440 20|19 27 4vO= *K -620 42.0 4.0
4 40 2v O+4  #Q -230 41.0 50|10 34 34 S+2 *7 200 420 40|28 18 4vO= &K -620 42.0 4.0
10 34 3y O+3 #Q -230 41.0 5.0|27 17 3¢« N+2 ¢Q 150 39.0 70|33 13 4v 0= «Q -620 42.0 4.0
6 38 4v V= v8 -420 34.0 12.0|37 7 3¢ N+2 vQ 150 390 70(38 8 4v 0= *K -620 42.0 4.0
13 31 4v V= v5 -420 34.0 12015 29 34 S= v2 140 36.0 100 2 44 4v V+1 &7 -650 20.0 26.0
14 30 4v O = +Q -420 34.0 120| 5 39 24 N= vQ 110 30.0 16.0| 5 41 4v O+1 T -650 20.0 26.0
27 17 4v O= *Q -420 34.0 12.0| 6 38 3¢ N= vQ 110 30.0 16.0( 6 40 4v O+1 «Q -650 20.0 26.0
37 7 4v O= v5 -420 34.0 12.0|16 28 3¢ N= &K 110 30.0 16.0( 7 39 4v O+1 &K -650 20.0 26.0
143 49y 0+1 v8 -450 15.0 31.0|19 25 3¢ N= &5 110 30.0 16.0| 9 37 4v O+1 &K -650 20.0 26.0
539 4v O+l #Q -450 15.0 31.0|32 12 24 S= v2 110 30.0 16.0(11 35 4v O+1 T -650 20.0 26.0
8 36 4v O+1 v7 -450 15.0 31.0|18 26 INN= vlJ 90 24.0 22.0|14 32 4v V+1 +Q -650 20.0 26.0
15 29 4v V+1  «Q -450 15.0 31.0| 4 40 4¢ N-1 vQ -100 18.0 28.0|15 31 4v O+1 &K -650 20.0 26.0
18 26 4v O+1 ¥v5 -450 15.0 31.0|14 30 44 S-1 vK -100 18.0 28.0|16 30 4v O+1 &K -650 20.0 26.0
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19 25 4v V+1 &7 -450 150 31.0({41 3 34S-1 v2 -100 18.0 28.0|20 26 4v O+1 &K -650 20.0 26.0
20 24 4v O +1 &Q -450 15.0 31.0|44 47 44 S-1 v2 -100 18.0 28.0(21 25 4v O+1 &K -650 20.0 26.0
21 23 4v O+1 v5 -450 15.0 31.0|45 46 44 S-1 &A -100 18.0 28.0(22 24 4v V+1 &7 -650 20.0 26.0
32 12 4v O +1 &Q -450 15.0 31.0| 1 43 3vO= +9 -140 12.0 34.0|36 10 4v O+1 *T -650 20.0 26.0
33 11 4v V+1 vJ -450 150 31.0(21 23 3v O+1 +9 -170  10.0 36.0|42 4 4v O+l &K -650 20.0 26.0
35 9 4v O+1 *0Q -450 150 31.0( 8 36 3NS-2 &6 -200 7.0 39.0|43 3 4vO+1 &K -650 20.0 26.0
41 3 4v O+1 &Q -450 15.0 31.0|20 24 44 S-2 vK -200 7.0 39.0|45 1 4vO+1 L o) -650 20.0 26.0
42 2 4v V+1 +Q -450 15.0 31.0|33 11 INN-3 vQ -300 3.0 43.0|48 23 4v O +1 &K -650 20.0 26.0
44 47 4y O+1 v7 -450 15.0 31.0(48 22 3NS-3 &3 -300 3.0 43.0|34 12 4v V+2 &7 -680 1.0 45.0
16 28 5¢DS-4 vK -800 0.0 46.0|42 2 4vDO= #Q -590 0.0 46.0|46 47 4v O +2 &Q -680 1.0 45.0
46 49652 47 +E 48 « KKn73
Ost v 986 Syd vKn7543 Vast v D9864
Ingen + Kn1064 NS + D102 ov *7
&DKn #K976 *K96
4E103 4Kn & KKn92 «D1087 49842 &ED5
v K103 v DKn7542 v E62 v K1098 v K72 v Kn5
¢752 ¢ ED3 4643 + K985 +D3 + 10954
#9753 #642 &#EKN3 &5 #EKN82 #10543
« KD874 46543 106
vE vD vE103
+ K98 ¢ EKn7 ¢ EKKn862
#EK108 #D10842 D7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 37 4vyDO-3 &K 500 46.0 00|29 19 34 V-3 v7 150 46.0 0.0|18 30 4v N= +9 420 450 1.0
2 44 4e N= vQ 420 350 11039 9 34 V-2 &7 100 43.0 30|44 4 4vy N= &3 420 450 1.0
6 40 44 N= vQ 420 350 11.0|43 5 34 V-2 v7 100 43.0 30|20 28 3v N+1 aA 170 410 5.0
7 39 44 S= v3 420 35.0 11.0|12 36 24 V-1 v5 50 36.0 10.0(23 25 2v N +2 &4 170 41.0 5.0
14 32 44 S= vK 420 35.0 11.0(17 31 34 V-1 v4 50 36.0 100 3 45 3v N= &3 140 34.0 12.0
17 29 44 N= vQ 420 35.0 11.0|22 26 34 V-1 v3 50 36.0 10.0| 8 40 1v N+2 &3 140 34.0 12.0
20 26 44 S= v3 420 35.0 11.0|44 4 24 V-1 &6 50 36.0 10.0|17 31 3v N= *T 140 34.0 12.0
33 13 44 N= vQ 420 350 11047 1 34V-1 v5 50 36.0 10.0(37 11 2v N+1 &4 140 34.0 12.0
42 4 44 N= vQ 420 35.0 110|134 14 24 S-1 vA -100 30.0 16.0(39 9 2v N+1 &5 140 34.0 12.0
46 47 44 S= v2 420 35,0 110| 3 45 24 V= &7 -110 23.0 23.0| 6 42 2¢ S+1 +9 110 24.0 22.0
48 23 44 S= v3 420 350 110| 6 42 24 O= *6 -110 23.0 23.0(10 38 2v S= +Q 110 24.0 22.0
5 41 34 N+1 vQ 170 16.0 30.0| 7 41 24 V= aA -110 23.0 23.0(15 33 2¢ S+1 8 110 24.0 22.0
11 35 34 S+1 v3 170 16.0 30.0(20 28 24 V= 2 -110 23.0 23.0(21 27 2¢ S+1 49 110 24.0 22.0
15 31 34 S+1 vK 170 16.0 30.0(23 25 24 V= &6 -110 23.0 23.0(43 5 2¢ N+1 a4 110 24.0 22.0
21 25 34 S+1 v3 170 16.0 30.0(37 11 24 O= &8 -110 23.0 23.0|47 1 2¢ N= 49 90 18.0 28.0
22 24 34 S+1 v3 170 16.0 30.0| 8 40 INO+1 46 -120 150 31.0( 7 41 2¢ S-1 a4 -50 12.0 34.0
28 18 24 S+2 vT 170 16.0 30.0(35 13 INV+1 v3 -120 150 31.0(16 32 2NN-1 &4 -50 12.0 34.0
36 10 34 N+1 vQ 170 16.0 30.0 (16 32 24 V+1 &7 -140 100 36.0(22 26 2¢ S-1 48 -50 12.0 34.0
38 8 34 S+1 v3 170 16.0 30.0(18 30 24 V+1 v4 -140 100 36.0(29 19 4v N-1 *T -50 12.0 34.0
43 3 34 S+1 v3 170 16.0 30.0(48 24 34 V= *6 -140 100 36.0(46 2 4v N-1 &4 -50 12.0 34.0
19 27 24 S+1 &5 140 5.0 41.0|21 27 1INV +2 v4 -150 6.0 40.0|12 36 3NN-2 ¢+5 -100 4.0 42.0
34 12 34 S= vK 140 50 41.0|10 38 24 V+2 ¢2 -170 20 440|134 14 3¢ S-2 v2 -100 4.0 420
16 30 44 N-1 vQ -50 1.0 450(15 33 3& V+1 va -170 20 440|135 13 3NN-2 &3 -100 4.0 420
45 1 44 S-1 v3 -50 1.0 45046 2 1la V+3 v5 -170 20 44.0|48 24 4v N-3 vJ -150 0.0 46.0
49 4« DKn62 50 4« Kn98 51 4« Kn95
Nord vE763 Ost v76 Syd v D85
Ingen *7 NS + E10876 ov ¢ E2
»EK98 K104 #EKn953
» EK87 53 4 K107 #4ED62 K8 4 D1062
vKn9542 vKD8 vE1043 852 v 10742 v KKn963
.- + EKDKn8 + K 4942 ¢ DKn1053 ¢ K87
#DKn105 #732 #98753 #EKn2 #104 »8
21094 543 « E743
v10 v KDKn9 vE
410965432 ¢ DKn53 + 964
*64 £D6 #KD762
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
40 10 4vDV-2 #A 300 46.0 00|18 32 3NO-3 vK 150 460 00| 2 3 3NN= v3 400 40.0 6.0
4 46 3¢ O-3 aT 150 440 20|11 39 3¢ S= a7 110 440 20| 9 43 3NN= v6 400 40.0 6.0
7 43 4v V-2 A 100 400 6.0 4 46 34 O-2 vK 100 40.0 6.0|23 29 3NN= v6 400 40.0 6.0
9 41 4vDV-1 v3 100 400 6.0| 7 43 2NO-2 vK 100 40.0 6.0|24 28 3NN= v9 400 40.0 6.0
11 39 4v V-2 &K 100 400 6.0|17 33 1INV-2 *7 100 400 6.0|36 16 3NN= v6 400 40.0 6.0
1 2 4v V-1 *7 50 28.0 18.0(13 37 INN= a2 90 36.0 10.0|37 15 3NN= v4 400 40.0 6.0
8 42 4v V-1 &A 50 28.0 180| 9 41 INO-1 vK 50 30.0 16.0|41 11 3NN= v6 400 40.0 6.0
16 34 4v V-1 *7 50 28.0 18.0(22 28 2v V-1 v7 50 30.0 16.0(31 21 3# S+2 +Q 150 32.0 14.0
22 28 4v V-1 A 50 28.0 18.0(30 20 34 O-1 +Q 50 30.0 16.0|12 40 44« S= vT 130 27.0 19.0
30 20 4v V-1 A 50 28.0 18.0(36 14 INO-1 vK 50 30.0 16.0|20 32 4 S= *J 130 27.0 19.0
35 15 4v V-1 v3 50 28.0 18045 5 3#V-1 v6 50 30.0 16.0(46 6 2& S+2 +Q 130 27.0 19.0
36 14 4v V-1 *7 50 28.0 18.0(16 34 Pass 16.0 30.0(48 26 3# S +1 *J 130 27.0 19.0
38 12 4v V-1 *7 50 28.0 18.0|19 31 Pass 16.0 30.0|39 13 INN+1 v2 120 22.0 240
4 6 4v V-1 *7 50 28.0 18.0(21 29 Pass 16.0 300| 1 4 3NS-1 +5 -50 11.0 35.0
24 26 1¢DS-1 #J -100 18.0 28.0|23 27 Pass 16.0 30.0| 5 47 5#S-1 +Q -50 11.0 35.0
45 5 2v V= *7 -110 16.0 30.0 (24 26 Pass 16.0 30.0| 8 44 3NN-1 v6 -50 11.0 35.0
48 25 3v V= *7 -140 14.0 32.0|35 15 Pass 16.0 30.0|10 42 5&#S-1 +Q -50 11.0 35.0
13 37 3NO= +6 -400 11.0 35.0|38 12 Pass 16.0 30.0|14 38 3NN-1 v3 -50 11.0 35.0
18 32 3NO= +9 -400 11.0 35.0 (40 10 Pass 16.0 30.0|17 35 3NN-1 v3 -50 11.0 35.0
19 31 3NV +1 &A -430 6.0 40.0|44 6 Pass 16.0 30.0|18 34 5&#S-1 +Q -50 11.0 35.0
21 29 3NO+1 vT -430 6.0 400 1 2 140= vK -80 6.0 40.0|19 33 3NN-1 v3 -50 11.0 35.0
47 3 3NV +1 &8 -430 6.0 40.0| 8 42 INV= +6 -90 3.0 43025 27 3NS-1 +Q -50 11.0 35.0
17 33 3¢DN-3 +A -500 20 44047 3 INV= *7 -90 3.0 430|45 7 3NN-1 v3 -50 11.0 35.0
23 27 3NDN-5 +¢A -1100 0.0 46.0|48 25 3¢ S-1 »3 -100 0.0 46.0|22 30 3NN-2 v3 -100 0.0 46.0
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52 498643 53 #« EKn6 54 3
Vast vE Nord vD Ost vED32
Alla ¢+ ED1075 NS + Kn10852 ov + Kn982
72 #DKn98 #KD9%4
410 4 KD752 #1043 & K95 4 Kn10962 4 K54
v 986 v 107 vKn7432 v EK986 v K985 v 106
¢+ KKn962 ¢ 84 ¢ E7 + KD943 + K + E1073
#E1084 #DKn65 #E104 »- #E83 #10652
4 EKn 2 D872 « ED87
v KDKn5432 v 105 vKn74
+3 +6 + D654
#K93 *K76532 &Kn7
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
10 42 3N S+2 +6 660 46.0 0.0(26 28 4v O+1 +6 -450 46.0 0.0|20 34 24 V-2 &K 200
24 28 4v S+1 A 650 420 40| 2 5 4v O+2 +6 -480 29.0 17.0|24 30 24 V-2 &K 200
37 15 4v S+1 aT 650 420 40| 3 4 4v O+2 +6 -480 29.0 17.0(42 12 24 V-2 &K 200
41 11 4v S+1 A 650 420 40| 6 1 4v O+2 +6 -480 29.0 17.0|48 27 24 V-2 *Q 200
25 27 3NN+1 &5 630 38.0 80(11 43 4v O+2 +6 -480 29.0 17.0(18 36 1NN +2 +3 150
1 4 49 S= aT 620 29.0 17.0(15 39 4v O+2 +6 -480 29.0 17.0(38 16 INN+2 +3 150
2 3 4v S= oT 620 29.0 17.0(18 36 4v O+2 +6 -480 29.0 17.0(47 7 3¢ S+l aJ 130
5 47 4v S= v9 620 29.0 17.0|20 34 4y O +2 +6 -480 29.0 170 3 4 INN+1 »2 120
8 44 4v S= aT 620 29.0 17.0(23 31 4v O+2 +6 -480 29.0 17.0|10 44 3¢ S= aJ 110
12 40 4v N= A 620 29.0 17.0(24 30 4v O+2 +6 -480 29.0 17.0|13 41 3¢ S= aJ 110
17 35 4v S= aT 620 29.0 17.0|25 29 4v V+2 *9 -480 29.0 17.0|26 28 3¢ S= »3 110
22 30 4v N= 4 K 620 29.0 17.0(32 22 4v O+2 +6 -480 29.0 17.0|37 17 3¢ S= aJ 110
39 13 4v S= aT 620 29.0 17.0(37 17 4v O+2 +6 480 29.0 170| 6 1 24 V-1 &K 100
14 38 3NN= *0Q 600 20.0 26.0(40 14 5v O+1 +6 -480 29.0 17.0|11 43 24 V-1 &K 100
45 7 2v S+2 aT 170 18.0 28.0 (42 12 4v V+2 +6 -480 29.0 17.0|19 35 34 V-1 3 100
36 16 3v S= aT 140 15.0 31.0(46 8 4v O+2 +6 -480 29.0 17.0|21 33 24 V-1 &K 100
46 6 3v S= aT 140 15.0 31.0|48 27 4y O +2 +6 -480 29.0 17.0|23 31 24 V-1 43 100
9 43 4v S-1 aT -100 6.0 40.0|38 16 4v O +3 +6 -510 12.0 34.0(25 29 24 V-1 +8 100
18 34 4v S-1 49 -100 6.0 40.0| 9 45 6y O= +6 -980 5.0 41.0| 9 45 3¢ S-1 a2 -50
19 33 4v S-1 aT -100 6.0 40.0|10 44 6y V= 4 A -980 5.0 41.0|15 39 3NS-2 aJ -100
20 32 4v S-1 aT -100 6.0 40.0|13 41 6y O= +6 -980 50 41.0|32 22 3NS-2 a2 -100
23 29 4v S-1 oT -100 6.0 40.0|19 35 6v O= +6 -980 5.0 41.0|40 14 2NS-2 aJ -100
31 21 4v S-1 v6 -100 6.0 40.0|{21 33 6y O= v6 -980 50 41.0|46 8 24 V+1 vQ -140
48 26 4v S-1 aT -100 6.0 40.0(47 7 6vyO= +6 -980 50 410| 2 5 3NS-3 ] -150
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